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General Instructions :
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(i)  All questions are compulsory.

(ii)  Please check that this Question Paper contains 24 Questions.

(iii) Marks for each question are indicated against it.

(iv) Questions 1 to 5 are Very Short Answer type carrying 1 mark each.

(v)  Questions 6 to 10 are Short Answer Type questions carrying 2 marks each.
(vi) Questions 11 to 17 are Long Answer-I Type questions carrying 3 marks each.
(vii) Questions 18 to 21 are Long Answer-II Type questions carrying 4 marks each.
(viii) Questions 22 to 24 are Essay Answer Type questions carrying 6 marks each.
(ix) Answer should be brief and to the point.

(x)  Please write down the serial number of the Question before attempting it.

“EIES AT T AT S & 2

What is meant by a ‘Business Opportunity”’ ?

feg Aot uRa 1 31l ST |

Give the meaning of ‘Hindu Undivided Family’.

‘IR T[eh” TS “HHT ek’ H AU DT |
Differentiate between ‘Excise Duty’ and ‘Customs Duty’.
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4. VY] U AU ITH e & A UH IR FHE & €T H B F @ AT | I h U HA
T 3T AT I ATTRINH T USH Hi & [T g (07 STl HE I T
YT 2SI TS (o9 ST el T |

SR IMd T2F ol TETH H, SUHN So1@ BT S SHAGH I % Teh o
Y T ¥ | 1

Pranshu was working with Hitesh, a new entrepreneur, as a Production Manager. To
achieve the objectives, he issues necessary orders and guidelines to his subordinates

pertaining to work and to give practical shape to the production plan.

Identify and state the element being discussed above which is related to one of

the components of a ‘Business Plan’.

5. fouUH SR S URTI ST | 1

Define ‘Marketing Strategy’.

6. TafamTeraTetl & gfehivr | itk THaeT & Hed & (el a1 (orgal P Seoid Iy | 2
State any two points of importance of Stock-Exchange from the view point of
investors.

7. UH ST % W Suetsy T UbRI & ‘S8 A i THEET | 2

Explain various types of ‘Brand names’ available to an entrepreneur.

8. fouUH IieHT AR TR HE AT ST ! T8 e hd i Sl & 2 Sooid iU | 2

How is target market identified while preparing the marketing plan ? State.
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11.

12.
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T ITH ST A ST IS 9 % AU T A2 d99Re HYHS IS IE | T Iy
I % 500 T I N I F 1200 I H {9661 1 | TH SR & 1 IS Hl A HA B AT
T AR % 1,000 & | AT et e "Er 200 W €, AT SHH! U a9 ©ih aNH
ANTA ST BT |

Jalaj an entrepreneur started a new website ‘Fashionate Shirts’ to sell readymade
shirts. In the first year he sold 1200 shirts at the rate of ¥ 500 each. His cost of placing

an order and receiving the shirts is ¥ 1,000 per order. If the Economic Order Quantity

is 200 shirts, find out the inventory holding cost per year.

TRH T T SHaEE URH HET ARl § | 98 30 AR H TR Tl § 1h 39 h9 THR H
FEAEE AR HET AT | 3H HF 7 3 qoTe 3l o6 9 369 ffw weedi § Wt of |
3T T U9 ¥ Tk T (ST S o a O ST & F 397k UideieT o & foiT Eiy
T U ISt RT Bl G0 &1 | 37 394 Tg F01g foran T ag @ ufdesar & @i S qen
AT o I H TSR AT AN | 38 G T U SR 99-aeed Wi

AT T STAAEH TRl |

T F vgd S TewH % o 9 Oreg &1 uEi e S8 UEEiT U S Sooid
FHIT | T & TH Teh 3T AFY H Iooid BT S TR I SFGEE YRY H H TErddl
FHAT |

Saurabh wants to start a new business. He is not sure of the type of business he should
start. His friend suggested him to seek the help of professionals. He contacted a
professional who asked Saurabh to pay a big amount for providing the reports and
industry updates. Therefore he decided to search for the reports and industry updates
himself. He scanned the relevant information from various national and international

websites.

Identify and state the way that Saurabh is using for spotting the trend. Also state

one more way which will help Saurabh in starting his business.

“GSTATCHSRAT Sl UfshaT o U2| o1 ©ROT b1 Soeid iy |

State the first three steps in the process of ‘creativity’.

T HEHN WIS Hi el A FaRIwaratt sl THesy |
Explain any three features of a ‘Co-operative Organisation’.
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13, fed ST = 310 91 & W IS & S| S T HGTT YRS [HAT | AT 37 ¢ STHRA 6 IR
o Igd & ST & | Sgd & Qe ¥ IS T AL a€ el HeAd & HROT I FOH ¥
700 SET ST S | T%ST gU | ATk S8 g o ST el foam | S1 1 & iifeh 576
IS T el g8 T AT ST TRT o SR o | SO o | 37 o o (ST e i 37
TR |
(37) ot IS o SR =fe g2 i TanT |
@) Tl AR fagatl @1 Sooia Y BT TSt % I8 gesh STt % e hd Suant & 2 3

Rohit Shetty started leather shoe business with his brother. Both were very excited

about the new venture. With meticulous planning and a lot of hard work they were
able to sell 700 pairs of shoes in the first year. But they did not earn any profit. Both
were happy because they were not at loss and revenue generated was equal to the cost.
Now they were moving towards earning profit in the second year.

(a) Identify the component of financial plan discussed above.

(b) By giving any four points state how this component is useful for the

entrepreneur ?

14, U o1 eI, 3RE, “W-3TRA’ U A9 & TTeF 5e] STANT o ol ostett sl gamer 39 (35
BT IR H @ & | 79 U B §gd T & | SEF T B I B AT 1 SR AT
% 1,000 & T =g 38 U Th1E T 1,200 H 99 Gl § | TR § 377 Ufaantt 4t 7o i 3
H1 T 2,000 H ST T T W E | RS P I DI-37aY % TAT AT 11 1 el & v
TANTR & T 9T Sl 319 MHHR | &A1 & | ST 37UeT & 6 7 YoI % HRUT IURT ¢
FE I S RS B |
TR 3 T 9T T 30 HHR & ol 3TRT FRT I T8 odl-FEReT fafy &t gea=
FHAT | 3] oa-FuRoT fafyr o T2l g1 @i &1 Soohg of St | 3
Aarav, a small entrepreneur, is manufacturing portable electric iron for domestic use

with the brand name ‘P-IRON’. This iron is in great demand. He finds that the cost of
production per unit of the iron is I 1,000 and he can sell the same at ¥ 1,200 per unit.

The competitors in the market are selling this type of iron at the rate of ¥ 2,000.
Aarav’s objective is not to earn profit in the short-run but to capture the largest market.
His expectation is that the customers will be attracted towards the new brand because
of low price.

Identify the method of pricing adopted by Aarav to capture the substantial
portion of the market. Also, state any two advantages of this method of pricing.
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15. T=Afat@d ge=r 100 g, 200 I T 300 T & TR & fosha-fas § gmfua ¢

R 10095 2009 300 U5
®) ®) ®)
fersha g Tfd SohTS 30 42 72
IRATRIA ATT Ul THTS 18 28 38
ICEDALE RN 20% 20% 60%

FeT T AT € — 80,000
fosra-fae =l ufa Tore Wia- 3T ad- 39 & TUMT ST |

Following information is related to sales-mix of registers having 100 pages, 200 pages

and 300 pages :
Register 100 Pages 200 Pages 300 Pages
®) ®) ®)
Sales Price per unit 30 42 72
Variable Cost per unit 18 28 38
Sales-Mix Percentage 20% 20% 60%

Total Fixed Cost is — ¥ 80,000

Calculate the weighted-average-contribution per unit for the sales-mix.

16. ‘T Herdr foshg qEneT Ue SNTHI, SETEHT bl JETST, STl U o481 317 sl s s & 1
ST I H Hied Tohea T &l Tgai-T ael 39 YR i AT & el f ol &
3o HIT |

‘All business plan for sales volumes and revenues, resource quantities, costs and

expenses etc.’

Identify the concept involved in the above planning and state any two benefits of

this type of plan.
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17. ARt =ret ST § HH-HEd Aol SISl RISl M & Hadrd H @ g7 o1 | 98 3TesT
A TSI T TET A1 A1 Foen | 370+ Fedg & faaR & folT g5k o | 39 adreRoT i
JFAIF ThaT Tk a7 3 IR TS STRIHIST FH Il o T S SHb! FTHH Te it
FISTTST I A1 X T & | 39 I e e & 39 =raad & fowr & o yra
TS HHITTT T & HiTeh TR DR A el AR [f-=rHi i = &l & | 38 §RT IR
H HRI T TEEAT e da & T TRAT TR A 9 {6 3 R § & ol e HeiRd
A T 24F & | TWHR 7 399 Fel [ A 98 IR § FIE™ =0e] {1 =l ¢, af 39
I R T STERTH WA AT TS | 98 T &l ARG THR 5N IR Seeei qrawdt
HFeh Sl U 3 o T o &l T |

(37) I DT 9 URRTT ol I8P H gU el JT TAToRUN HHh i TedH BTy |

@) e U =l <1 godl P Soeid iy 57 STRIST diert 5 WA qHIST bl Juifea
T T VAT AT | 3

Abhiraj Chaudhary is into the business of manufacturing low-cost Diesel Cars in
Germany. He is earning good profits and ambitiously considering overseas expansion.
He scans the environment for finding out the opportunities and threats that may
influence his current and future plans. He zeros down on India as a potential place for
his business expansion as Indian Government has announced favourable trade
regulations. On selling the first lot of cars in India, the Indian Government noticed that
the emissions from these cars were above the permissible limit. The government asked
him to make necessary modifications in his cars if he wanted to continue business in

India. He readily agreed to meet the emission norms set by the Indian Government.
(a) Quoting the lines from the above para identify any two environmental factors.

(b) Also, state any two values which Abhiraj Chaudhary tried to communicate to the

Indian Society.
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19.

20.
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SR T Godish-T e THT U STH! §RT &IH H W ST alet awdl 1 Seoid it |

State the factors that an entrepreneur has to take into consideration while assessing the

market.

et Scare | ety Taawor gonferat o =9 id 95T & B T SH aTel o2 91 Sheh!

T GHLATT |

Explain any four factors to be taken into consideration while selecting channels of

distribution related to a product.

G @2 91 A oot favatarmer & st fore e 6t | e fovafarmers & 9 e o,
STefeh T T 3TEH § 39 e aT9g ST UST | FHT ST S TR AT T o | S &
THR = TAEH B Al & ST W Ufqe= H Soon ®F 37 - H T8 FTEr o1 6 J
Sfe ST 0T B A R HAT | T A T 5 S o % faue % e o fevatammea
&1 T AT AT Y 3TST T ST HOM | 3Tk UT G eAIeT off off | 37, 39+ qid
& AT T T FAGE YR T | SHF U S ST SR T IS 3T Fal o7 | i
TTATAT 3 HROT ST S 97T i HH A W =T | T IRUTHEET FS I I ITH
A fawhet & T | TE SR O T8 G o1 ik 39 H 3§ hedl HIT 9gd & &9
AN U THGT T&T o1 1 7Ma & T 1T o A GITTERT & HRT HH A W B HH &
fw TR 9 | o & T e URY R 9 U HiF A Fa9E % AN erd, R
T e SEh! 9T Ue hHSIET o 9 H oY 91 oY foram o |

SR ST & YR W A & qoi1 § T & Fa9™ & [a%el e & fh=l af
HRUT o TE=H ST T 3¢ GUee | U S gedi 1 o Seoid i I G 7 31
e % AT | TS S G T |




Sonu and Monu completed their education from Delhi University. Sonu lived in near
the University, whereas Monu had to go back to his village in Assam. Both of them
wanted to start their own business. Since the Government announced ban on the use of
polythene bags, an idea struck them to start a jute bag manufacturing business. Sonu
thought that he would get the advantage of University area for marketing the jute bags
and will earn good profits. He also had necessary funds. Therefore he started
manufacturing the bags immediately. He was not having any experience of
manufacturing jute bags. He also sold the bags on less margin due to tough
competition. As a result his business failed after a few years. On the other hand Monu
was happy because the raw material was available to him at a very low cost in Assam
and people of the village were ready to work at low wages because of less job
opportunities. Not only this, before starting the business Monu had researched about
the cost-structure, the market, the competitors and the strengths and weaknesses of the

business.

Based on the above paragraph, identify and explain any two causes of failure of
Sonu’s business in comparison to Monu. Also, state any two values which Monu had

communicated to the society through his business.

21. U IEH MoH, e o U 9gd o< e H Bl € | I8 T1a 37O WIhieh Ga¥dl o foid agd
TS o Gifh 9gd %A oI 3He AR H S & | 30 STHIF FHE & HRU g8 dad
G T G@ BT T AT AT | e o AT =g & TR & HiiTeh I SRR Hoed-Saa
R INR & | [ 7 Fiepas o5, TRl TE I giagen & 9 1e § gigar f9ae % o
T REE & A b aR T G | S T ot Fi B 3 aREs @ Tend o 3R SqeR
T TR & | B T URISHT S G T & o7 ST H TN A Hl Teard & |
T T 39 IR % ToTT % 2 S0 o1 GST o Teegeha o |

(3N 39 Tafere foda S &1 9 Sdey S99 AfdT o e savasharet # 9id &g
T HTAT AT |

@) 9 HEM H SO U QST HEAT o € § FHa ge q91 567 701 Jared S wa
e foham

(@) TH G P A e 1 E 2

@) U U Yoo 1 Seoid STy o Fid= Tomt 6t Sifad 2 =ean € | 4
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22.
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Nitin, an entrepreneur, is living in a beautiful village of Kerala. This village was
famous for its natural beauty but very few people know about it. Due to his
entrepreneurial inclination he always tried to find out the opportunities. People of the
village are very poor as they are mostly dependent on fishing. Nitin thought of starting
a ‘Holiday Resort’ with cultural centre, restaurant and other facilities in the village. All
the villagers agreed and supported Nitin for this project. They agreed to co-operate to
make this project a success. Nitin needed capital of ¥ 2 crores for this project.

(a) Name the specialized financial institution which Nitin should approach to meet
his requirements.

(b)  When was this institution incorporated as a public limited company and became
operational ?

(c) What is the main function of this institution ?

(d) State any one value which Nitin wants to communicate to the society.

T enedl-ardt 31O .3, qH Rl 3HX a7 T S AGGE WY AT el € | 9 ST o
o e o faotett =i 4 fGq-ufafes s @1 o, STafeh Tge SR 9 o1 | Ja 3 3
fgar F= fal & T 9eEn U o) 37 @i 3 HoeR 98 foig o o fOga-saea &
AT URY a1 ST | =i faf= fafeat s adteror foran iR staa: e ¥ fora-3saae o
et &1 T | 3 T g GO & Tk R e o HUS hl FHET o off WHAT Y T AT |
(30 3T foaR-a & TeaH HRd §U ST GHLET STl § Fo U 39 (i o 3 fa=w &
SUMEE T |
() T &l SIME0T H Wl ¥ faaR-g % 31 3= Al i o THEET |

Naveen has just completed his B. Tech. and want to start his own business. He knew
that the demand of electricity in India was increasing day by day, whereas its
generation was not sufficient. Naveen shared his views with some of his friends and
they all decided to start the business of electricity generation. They experimented
various methods and ultimately succeeded in electricity generation through garbage.

They all were very happy as India is also facing the problem of garbage disposal.

(a) Identify and explain the source of ‘Idea-field’ from where the idea had been

generated by Naveen and his friends.

(b)  Also explain two other sources of Idea-fields with the help of example.
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el HiTEeT HIGTeeT HiF o U UGS SIS & | 3ok et STHisRTT forenel weh Ueiar safer
£, 57 Hiameer Wi 4§ fafere fowioarett s STaweshdr eidt § | 39 S) ST 7 U SIS 3HR
1 94T AR oTet HiEer 9eR faeiad foar &, st frafra =) i qomn 3 Suan & § §gd
& ST & | 98 TSR YA TR T | S T § e W € 9gd Y fostelt o @ s
T

(37) IR ST F UloRaal Sl 7Y X gU FTA - H-I0FT | TgeRd ST ghg
% & USRI I TE=T U6 T |

(@) T (31) | afed STFITAT gt & ThRi & SIaRe a7 3T TehRT i i THeEy |

‘Toto-T mobiles’ is a famous brand of mobile phones. Its target customers are students
and professionals who require specialized features in the mobiles. This time the
company developed a small size wireless mobile charger which is more convenient to
use than the regular charger. This charger is made of recycled material and consumes

very less electricity.

(a) Quoting the lines from the above para identify and explain the two types of

‘added value’ in the business-growth-strategy.

(b) Also explain two more types of added value other than discussed in part (a).

U T & ST TTE & (o & TON ! THETEY ST Ush STHT T I8 S H FeFdl Hidr
¢ fop s 7 s T 5€ THEEt & SR e H Rl A i et a1 2 qarged
T

Explain the steps for the development of the tool of cash management that helps an
entrepreneur in knowing how much cash generation and expenditure is anticipated

over a chosen period of time in future.
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